Questions 1 - 5: Problem 9-34; Note that the selection must be made based on incremental B/C analysis.

Questions 9 - 16: Problem 9-50.
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	1.  The benefit cost ratio for alternative A can be calculated with which equation?
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	2.  The benefit cost ratio for alternative C is most nearly
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3. The incremental benefit cost ratio for (B-C) is most nearly
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4. The incremental benefit cost ratio for (A-B) is most nearly    
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5. Which alternative is preferred?  
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6. Problem   9-2      F is proportional to x.   The equation is  F = ax.  The numerical value of a is most nearly
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7. Problem  9-64     The value of X is most nearly
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8. Problem  9-68     This problem can be approached by determining EUAC.  At the breakeven point, which defines the value of the  maximum treatment cost, EUACtreated = EUACuntreated.
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9. Using the 12 year analysis period (which is the correct procedure), the Net Future Worths of A,B, and C, respectively are most nearly
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10. Based on  Future Worth Analysis, the recommended alternative is
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11. The Payback Period (years) for A is most nearly
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12. The Payback Period (years) for B is most nearly
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13. Based on Payback Period, the preferred alternative is
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14. The incremental   B/C  for (C-A) is most nearly
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15. The incremental  B/C   for (B-C) is most nearly
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16. Based on Incremental B/C Analysis, the preferred alternative is
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